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1. The HCF of two numbers is 98 and 

their LCM is 2352. The sum of the 
numbers may be 

(a) 1372 

(b) 1398 
~ 

(c) 1426 

{d) 1484 

2. Consider the following statements 

1. To obtain prime numbers less 
than 121, we are to reject all 
the multiples of2, 3, 5 and 7. 

2 . Every composite number less 
than 121 is divisible by a prime 
number less than 11. 

Which of the above statements 
is I are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

3. Which one is one of the factors of 

x 2 + x; +8(x+ ~)+14? 

{a) x +..!. + 1 
X 

(b) X+_.!_+ 3 
X 

1 
(d) X+ - + 7 

X 
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4. What is the HCF of a 2b 4 + 2a2 b2 

and (ab) 7 -4a2 b 9 ? 

(a) ab 

,(b) a2b3 

(c) a 2 b2 

(d) a 3 b2 

5. What is the LCM of x 2 + 2x- 8, 

x 3 -4x2 +4x and x 2 +4x? 

{a) x(x +4)(x -2)2 

{b) x(x + 4)(x - 2) 

(c) x(x + 4){x + 2) 2 

(d) x(x+4) 2 (x - 2) 

6. A can do a piece of work in 4 days 
and B can complete the same work 
in 12 days . What is the number of 
days required to do the same work 
together? 

(a) 2 

{c) 4 

(b) 3 

(d) 5 

7 . Consider the following statements : 

1. x + 3 is the factor of 

x 3 +2x2 + 3x+ 8. 

2. x- 2 is the factor of 

x 3 +2x 2 +3x+8. 

Which of the statements given 
above is I are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

~·~ ~ ----------- --- - - ----------------
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1. ~ ~311 itiT HCF 98 t 3ftt ~ LCM 
2352 t 1 mr3ll q;r tW1 ~ m tfCfi(fT ~? 

(a) 1372 

(b) 1398 

(c) 1426 

(d) 1484 

2. ~"'i~f€1<1 ~ tR ~ ~ : 

1. 121 ~ mit 3{~ ~ 'l:fR ~ 
~ ~ 2, 3. s a:m 1 ~ ~ ~ 
3:r~<t>l< ~ ~ I 

2. 121 ~ ~ ~ ~ ~. 11 

ll'ffiit3:r~~~~tl 

~ ~ il ~ ~-mj~ ~ ~~~? 

(a) ~ 1 

(b) ~2 

(c) 1 3ft\ 2 crr.rr 

fdJ ';{ m 1 3ftt ~ tt 2 

3. f.l+01~f&ct .q "« CbT-1-m ~ 

x 2 + -
1 

+ 8 (x + .!.) + 14 
x 2 X 

Cfi1 !JIOI•HliU:S ~? 

(a) x +~ + 1 
X 

(b) X+~+ 3 
X 

(c) x + ~ + 6 
X 

B-BCRB-M-NBU/48A 3 

4. a2 b 4 + 2a2b 2 afu: (ab)7 -4a2 b 9 Cfi1 

HCF <i<ll t? 
(a) ab 

(b) a2b3 

(c) a2b2 

(d) a3b2 

5. x 2 +2x- 8, x 3 -4x2 +4x 

x 2 +4x q;r LCM W t? 
{a) x(x +4)(x- 2) 2 

(b) x(x + 4)(x - 2) 

(c) x(x + 4) (x + 2) 2 

(d) x(x + 4) 2 (x - 2) 

6 . ~ q;Ff q;) A, 4 ~ -ij W q;1; ~ t 
3fR ~ q;Ff ~ B, 12 1t.il -q ~ ~ 
~ t I '3{ft CfiTlf q;l ~ ~ W ~ 1l; 

~ ~ ~ ~ cfit ;'Sf!cW<Icfldl t? 

(a) 2 

(c) 4 

(b) 3 

(d) 5 

7. ~(:;l{Bf(s,~ ~ tR fcRm ~: 

1. x 3 +2x2 +3x+8 Cfi1 !f'H<liO:S 

X+ 3tl 

2. X J + 2X 2 + 3x + 8 Cfi1 !JjO!Oi{liO:S 

x-2t1 

~ ~ .q l1 C'flT.r-m/l1 ~ t/~? 

(a) ~ 1 

(b) ~2 

(c) 1 am 2 ~ 

fdJ ;r m 1 am: -=~ tt 2 

IP.T.O. 
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8. A person sold an article for(' 3,600 
and got a profit of 20%. Had he sold 
the article for r 3 ' 150, how much 
profit would he have got? 

(a) 4% 

(b) 5% 

(c) 6% 

(d) 10% 

9. What is 

(x2 + y2)(x- y)- (x- y)3 

x2 y- xy2 

equal to? 

(a) 1 

(b) 2 

(c) 4 

(d) -2 

10. If x + y-1 = 0 and 3x + y-13 = 0, 

then what is 4x2 + y2 +4xy equal 

to? 

(a) 15 

(b) 85 

(c) 91 

(d) 100 

11. If the expression x 3 + 3x2 + 4x + k 
has a factor x + 5, then what is the 
value of k? 

(a) -70 

(b) 10 

(c) 48 

(d) -48 

B-BCRB- M- NBU/48A 4 

12. In a class of 110 students, 
x students take both Mathematics 
and Statistics, 2x + 20 students 
take Mathematics and 2x + 30 
students take Statistics. There 

• are no students who take 
neither Mathematics nor Statistics. 
What is x equal to? 

(a) 15 

(c) 25 

(b) 20 

(d) 30 

13. If x 2 = 6+~6+~6+.J6+· .. oo, then 
what· is one of the values of x equal 

to? 

(a) 6 

(b) 5 

(c) 4 

(d) 3 

14. The quantity which must be added to 
(1- x)(1+ x 2 ) to obtain x 3 is 

(a) 2x 3 + 3x 2 + x + 1 

(b) 2x3 +x2 +x-1 

(c) 2x3 -x2 +x-1 

(d) -x2 +x-1 

15. Consider the following statements : 

1. 7710312401 is divisible by 11. 

2. 173 is a prime number. 

Which of the statements given 
above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 
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8 . ~ oqf$ ~ 'Q;Cfi ~ ~ 3,600 if~ ~ 
20% q;y ~ tmn I ~ ~ ~ ~ cnl 
~ 3,150 if~~. m ~ ~ 'Rflf 

'lT<n mm? 
{a) 4% 

{b) 5% 

(c) 6% 

(d) 10% 

{a) 1 

(b) 2 

{c) 4 

(d) -2 

10. ~ X+ y- 7 = 0 am 3x + y- 13 = 0 

~.(f) 4x 2 + y 2 +4xy~ ~ t? 

(a) 75 

(b) 85 

(c) 9 1 

(d) 100 

11. ~ ~ x 3 + 3x2 + 4x + k q;y "Q;Cfi 

T'l"l@OS X+ 5 t_ ID k q;J llR ~ t? 
(a) -70 

{b) 70 

(c) 48 

(d) - 48 

B-BCRB-M-NBU/48A 5 

12. 110 fcrmf'~ cfa' "Q;Cfi CfillJT if X~~ 
w am ~if&tc#il ~. 2x+20~ 
~ W ij'i(( 2x + 30 ~ ~ ~if&icf>l 

~ tl w ~ fmn~ -;rtff t, ~ ;r 
fi ~ -m 3ffi ~ eif&lcf>l1 x ~ 

oman t? 
(a) 15 

(c) 25 

13. ~ 

(b) 20 

(d) 30 

x 2 = 6+~6+~6+~6+···00 

t, m x q;y 1!;Cfi lfR ~ ~ ~? 

(a) 6 

(b) 5 

(c) 4 

(d) 3 

14. x 3 ~ ~ ~ (1- x)(1 + x 2 ) if <fliT ufu 

~~''*l~t? 

(a) 2x 3 + 3x 2 + x + 1 

{b) 2x3 + x 2 + x - 1 

(c) 2x3 -x2 +x-1 

(d) 2 -x +x-1 

15. f.lt=i~fut<l ~ ~ ~ ~ : 
1. 7710312401, 11 ~ ~ tr 
2. 173"Q;Cfi~~tl 

~~if~ ~-m/u ~ t/~? 

(a) m 1 

(b) ~2 

{c) 1 ~2~ 

fdJ ;r m 1 am ~ ~ 2 
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16. 195 + 215 is divisible by 

(a) 10 only 

(b) 20 only 

(c) both 10 and 20 

(d) n either 10 nor 20 

17. If (49) 2 - (25) 2 = 37x, then what is x 
equal to? 

(a) 64 

(b) 74 

(c) 48 

(d) 42 

18. For what values of k will 

4x 5 + 9x 4 - 7x 3 - 5x 2 -4kx + 3k 2 

contain x - 1 as a factor? 

{a) 3, - ~ 

(b) 3, -1 

(c) 0, ! 

(d) 1, ! 

19. x(y2 -z2 )+y{z2 -x2 )+z(x2 -y2)is 

divisible by 

(a) (y- z) only 

(b) (z- x) only 

(c) both (y- z) and (z- x) 

(d) neither (y- z) nor (z- x) 

B-BCRB-M-NBU /48A 6 

20. If 

X y 2 3 
- + - = 4 and - +- = 1 
2 3 X y 

then what is x + y equal to? 

(a) 11 

(b) 10 

(c) 9 

(d) 8 

21. A person 's salary has increased 
from~ 7,200 to~ 8,1 00. What is the 
percentage increase in his salary? 

(a) 25% 

(c) 1~% 

(b) 18% 

(d) 121.% 
2 

22. X can do a work in 16 days . In how 
many days will the work be 
completed by Y if the efficiency of 
Y is 60% more than that of X ? 

{a) 10 days 

(b) 12 days 

(c) 25 days 

(d) 30 days 

23. Two lots of onions with equal 
quantity, one costing (' 10 per kg 
and the other costing (' 15 per kg, 
are mi?ced together and whole lot is 
sold at ~ 15 per kg. What is the 
profit or loss? 

(a) 10% loss 

(b) 10% profit 

(c) 20% profit 

(d) 20% loss 
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16. 19 5 +215 ~ ~ t? 
(a) m 10 

(b) ~ 20 

(c) 10 am 20 ~ 

fdJ ;r en 1 o 3ffi ;r -gt 20 

17, ~ (49) 2 - (25)2 = 37x t, 'ffl X~ 
~t? 

(a) 64 

(b) 74 

(c) 48 

(d) 42 

18. kt~lfR~~ 

4x 5 + 9x4 -7x 3 - Sx 2 -4kx + 3k 2 

'ij x -1 ~ !10H€JO:S ~ ~ .q mJ t? 

(a) 3, - ~ 

(b) 3, -1 

(c) 0, ! 
(d) 1, ! 

19. x(y2 -z2)+y(z2 -x2)+z(x2 -y2) 

~~t? 

(a) m (y-z} 

{b) ~ (z - x) 

(c) (y - z) 3ftt (z - x) ~ 

(d) ";{ m (y - z) ~ ";{ tl (z - x) 

B-BCRB-M-NBU /48A 7 

20. ~ !_ + y = 4 3ltt ~ + ~ = 1 t. m x + Y 
2 3 X y 

~~t? 

(a) 11 

(b) 10 

(c) 9 

(d) 8 

21. ~ ~ ~ ~ ~ 7,200 ~ ~ 
~ 8,100 6) l'flnl ~ ~ 'ij ~ 

mm~~~? 

{a) 25% 

{c) 1~% 

(b) 18% 

(d) 12~% 

22. X~ ~ ~ 16 ~ it ~ Cfi\ ~ t I 
~ Y <#i1 G~ X~ 60% 3lfuq; t, cit Y 

~ ~ ~ fcfitR ~ it ~ rmn? 
{a) 10 ft-1 

{b) 12 ~ 

{c) 25 ~ 

(d) 30 ~ 

2a. v;cfl f' 1 o ma- kg ~ ~ ~ ~ r 1s 

ma kg ~ cfit J ~ lfllR mm <u8T ~ 
~~q;)~~~~~t~ 

~~~rtsm kg<&~~~~ 
~ tr ~ 'ffi\1 ~3Tl m <f<ll ~sf? 

(a) 10% mf.\" 
(b) 1 0% 'ffi\1 

(c) 20% 'ffi\l 

(d) 20% mf.\" 

[ P. T. 0. 
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24. For integers a, band c, ifHCF(a. b);:; 1 28. How many 200 mm lengths can be 

and HCF(a, c)= 1, then which one of cut from 10 m of ribbon? 

the following is correct? 

(a) HCF(a, be) = 1 (a) 50 

(b) HCF(a, be) = a (b) 40 

(c) HCF(a, be) = b 
(c) 30 

(d) None of the above 

(d) 20 
25. If b is the largest square d ivisor of c 

and a2 divides c, then which one of 
the fo llowing is correct? (a, b, care 
integers) 29. What is 262 + 972 eq ual to? 

(a) b divides a 
(a) 272 + 932 

(b) a does not divide b 

(c) a divides b (b) 342 +932 

(d) a and b are co-prime 
(c) 822 +41 2 

26. If k is a positive integer, then every 
square integer is of the form (d) 792 + 62 2 

(a) 4k only 

(b) 4k or 4k + 3 30. 2 men and 1 woman can complete 

(c) 4k + 1 or 4k + 3 
a piece of work in 14 days, while 
4 women and 2 men can do the 

(d) 4 k or 4k + 1 same work in 8 days. If a man gets 
~ 90 per day, what should be the 
wages per day of a woman? 

27. Every prime number of the form 
3k + 1 can be represented in the 

(a) r 48 
form 6m + 1 (k, m are integers) when 

(a) k is odd (b) ~ 60 

(b) k is even 
~ (c) f' 72 

(c) k can be both odd and even 

(d) No such form is possible (d) r 135 

B-BCRB-M- NBU /48A 8 
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24. ~ mm a. b 3fu: c t ~ ~ 
HCF(a, b)= 1 am HCF(a, c)= 1 t, m 
R""l~fuid ~ ~ ~-m ~ -mfi ~? 

(a) HCF(a, be) = 1 

(b) HCF(a, be) = a 

(c) HCF(a, be) = b 

(d) 3$~ ~~;rtf 

25. ~ c Cfi1 ~ crf \lfir<ii b ~ ~ c Cb1 
a 2 ~~ qi\<11 t m f.! ""lift f{g d .q -e 
~-m ~ ~ t? (a, b, c ~ ~ 
-~) 

(a) b, a CfiT ~ <fi«<T t 

(b) a, bCfil~~~t 

(c) a, b CfiT fct~ <fi«<T t 

(d) a 3ffi b ~~ ~ 

26. ~ k ~ tR ~ t, m ~ crrf ~ 
~~Ci)l~? 

(a) ~4k 

(b) 4k en 4k + 3 

(c) 4k + 1 'liT 4k + 3 

(d) 4k 1tT 4k + 1 

27. 3k+l ~ cfi't ~ ~ ~ Cb1 
6m + 1 (k, m 1?f ~ ~) ~ ~ ii 
f.l(<\Rl\1 ~ \if1 ~ t. ~ 
(a) k~ t 

(b) k ~ t 

(c) k ~ 3ft\ Wt, ~ m ~ t 
(d) ~ ~ q;r ~ ~ ~ -;:fflf t 

B-BCRB-M-NBU /48A 9 

28. 10m. ~ ~ ~ ~ ·200 mm ~ ~ 
ctkll~<li ~ \if1 ~ ~? 

(a) 50 

(b) 4{) 

(c) 30 

(d) 20 

30. ~ tfiTlf 2 ~a-m 1 mrer 14 ~ ~ ~ 
~ ~ t ~ 4 4~ctl~ 3fu: 2 ~ 
'3lft CfiTlf CfiT 8 w.i1 ~ ~ ~("~!'~ ~ I ~ 
1!;<fi ~ ~ go ~ 1ffif1 t, m 1!;<fi ~ 

cfi't ~ ~ ~ fcf;o-fi ~ .? 
(a) ~ 48 

(b) ~ 60 

(c) ~ 72 

(d) \'" 135 

( P. T. 0. 
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31. Which is the smallest nu111ber among 
the following? 

(c) ((2-s1-21-2 

fdJ [(Ts·,2r2 

32. What is the last digit in 7 402 + 3 402 ? 

(a) 0 

(b) 4 

(c) 8 

(d) None of the above 

33. A train running at the speed of 
72 kmph goes past a pole in 
15 seconds. What is the length of 
the train? 

(a) 150m 

(b) 200m 

(c) 300m 

(d) 350m 

34. 18 men can earn ~ 360 in 5 days. 
How much money will 15 men earn 
in 9 days? 

(a) ~ 600 

(b) ~ 540 

(c) ~ 480 

(d) ~ 360 

B-BCRB-M- NBU /48A 10 

35. The pair of rational numbers that 

1' b 1 d 3 . tes etween - an - 1s 
4 4 

262 752 
{a) 1000 ' 1000 

24 74 
(b) 100' 100 

9 31 
(c) 40' 40 

252 748 
{d) 1000' 1000 

36. A bus starts with some passengers. 
At the first stop, one·fifth of the 
passengers gets down and 40 
passengers get in. At the second 
stop, half of the passengers gets 
down and 30 get in. The number of 
passengers now is 70. The number 
of passengers with which the bus 
started was .. 

(a) 40 

(b) 50 

(c) 60 

(d) 70 

37. A can finish a work in 15 days, B in 
20 days and C in 25 days. All these 
three worked together and earned 
( 4,700. The share of Cis 

(a) ~ 1,200 

{b) ~ 1,500 

(c) ~ 1,800 

(d) ~ 2,000 
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31. f.\~Rtll9tdt ~ ~ m ~-~ t? 
faJ [{5-2l-2r2 

33. 

34. 

(a) 0 

(b) 4 

(c) 8 

(d) ~it-e~~ 

72 kmph cfi1 ~ "6 ~ ~ ~ 'tct•ll:$1 
t;cfi ~ ct>1 15 ~ it qf{ CfiUft t I 
'tct•ll:$1 ~ ~ ~ t? 

(a) 150m 

(b) 200 m 

(c) 300 m 

(d) 350 m 

18 ~ 5 ~ it tt' 360 <filn ~~I 
15~9~it~~~? 

(a) ~ 600 

(b) ~ 540 

(c) ~ 480 

(d) ~ 360 

B-BCRB-M- NBU/48A 11 . 

35 . .!. ~ .~ ~ ~ ~ CfTffi ~ m~ 
4 4 
ifiT~~-mt? · 

262 752 
(a) 1000' 1000 

24 74 
(b) 100' 100 

9 3 1 
(c) 40' 40 

252 748 
(d) 1000' 1000 

36. ~~~~·~~tl-st~ 
~-q"{~q;f~~~~ 
t 3ffi 40 lffift ~ ~ ~ ~I ~ 
~ -q"{ 311~ m;ft "3(1\ ~ ~ ~ 30 

~~~~~~~~-ttm-r 

1ot 1 ~~~m.~~am 

"{qH1 ~ vft' ~ 

(a) 40 

(b) 50 

(c) 60 

(d) 70 

37. ~ <fir.f ct>1 A 15 ~ it, B 20 ~it 3fR 
C 25 fa';it it ~ q;( ~ t I ~ <ff.:ii ~ 
~ ~ ~ ~ ~ 3tR ~4,700 
~ ~ ~ CifiT ~<fliT t? 
(a) (' 1,200 

(b) (' 1,500 

(c) (' 1,800 

(d) (' 2,000 

I P. T. 0. 
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38. If x is positive even integer and y is 
negative odd integer, then xY is 

(a) odd integer 

{b) even integer 

(c) rational number 

(d) None of the above 

39. Two cars A and B start 
simultaneously from a cert.aln 
place at the speed of 30 km/hr and 
45 km/hr respectively. The car B 
reaches the destination 2 hours 
earlier than A. What is the distance 
between the starting point and 
destination? 

(a) 90 km 

(b) 180 km 

(c) 270 km 

(d) 360 km 

40. 4 goats or 6 sheep can graze a field 
in 50 days. 2 goats and 9 sheep can 
graze the field in 

(a) 100 days 

(b) 75 days 

(c) 50 days 

(d) 25 days 

B-BCRB-M-NBU/48A 12 

41. A man cycles with a speed of 
10 kmph and reaches h is office at 
1 p .m. However, when he cycles 
with a speed of 15 kmph, he 
reaches his office at 11 a.m. At 
what speed should he cycle so that 
he reaches his office at J 2 noon? 

(a) 12·5 kmph 

(b) 12 kmph 

{c) 13 kmph 

{d) 13·5 kmph 

42. 20 workers working for 5 hours a 
day complete a work in 10 days. If 
25 workers are employed to work 
10 hours a day, what is the time 
required to complete the work? 

{a) 4 days 

{b) 5 days 

(c) 6 days 

(d) 8 days 

43. If m and n are natural numbers, 
then~ is 

(a) always irrational 

(b) irrational unless n is the mth 
power of an integer 

{c) irrational unless m is the nth 
power of an integer 

(d) irrational unless m and n are 
co-prime 
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38. ~ x tR '{1q ~ t a:m y ~ ~ 
~t,"ffixYt 

(a)~~ 

(b)~~ 

(c)~~ 

39. ~ ~ ~ -ij Gl m A 3fu B Sfilm: 

30 km/hr ~ 45 km/hr ctiT ~ ~ 
~ ~ "{(1FR ~ ~I Cfi11: B ~ ~ 
lR Cfi11: A ~ 2 tf1l'Z ~ ~ ~ t I 
~~~~~~~ctrr~ 
;p.n t? 

(a) 90 km 

(b) 180 km 

(c) 270 km 

(d) 360 km 

40. 4~m6~~~~so~1l 
W ~~I 2 iilct~ftlli ~ 9 ~ ~ CfiT 

~~1lw~? 

(a) 100~ 

(b) 75~ 

(c) 50~ 

(d) 25~ 

B-BC~M-NBU/48A 13 

41. ~ 3lWft 10 kmph <.fil ~ ~ Bt~fcfi~ 
'lffi"ffi t 3fR ~ ~ 1 ~ ~ 
~ t 1 o~, \1IGJ ~ 15 kmph ctiT 
~ ~ +~l~f'Cfl~ 'lffi"ffi · t m 'CQ: ~ 
11 ~~~tl~*i~~~~~ 
~~~~~GCRf(~ 12~ 

~? 

(a) 12·5 kmph 

(b) 12 kmph 

(c) 13 kmph 

(d) 13·5 kmph 

4 2. 20 Cfllll'll< ~ 'ij 5 ~ <fi11l' Cfi{ ~ <fi11l' 

q;) 10 ~ 'ij ~ ~ ~I ~ 25 Cfllli111D 
~ m .q 1 o ~ Cf;]"q ~ t ~ Fl111<n 

~ t m CfiTll ~ ~ ~ ~ 311•n~Cfl 
~<P-n~? 

(a) 4~ 

(b) 5~ 

(c) 6~ 

(d) 8~ 

43. ~ m ~ n tr.l ~ t m ~ 
(a) m~t 

(b) ~t, ~ OCfl ~ n ~~ 
Cfll rn<d l.lffi ';{ m 

(c) ~ t, \1IGJ OCfl ~ m ~ ~ 
<til ncO l.lffi 0{ m 

(d) ~t~(ltf;~ m31R n 
~~m 

jP. T.O. 
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44. Consider the following statements in 
respect of the quadratic equation 
ax 2 + bx + b = 0, where a "¢ 0 : 

1. The product of the roots is 
equal to the sum of the roots. 

2. The roots of the equation are 
always unequal and real. 

Which of the above statements 
is I are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

45. If ex and P are the roots of the 
equation x 2 - x- 1 = 0, then what is 

equal to? 

(a) 2/5 

(b) 3/5 

{c) 4/5 

{d) None of the above 

B-BCRB-M-NBU/48A 14 

46. The perimeter of a rectangle having 

area equal to 144 em 2 and sides 
in the ratio 4 : 9 is 

(a) 52 em 

(b) 56 em 

(c) 60 em 

(d) 64 em 

47. Let A be a pyramid on a square base 
and B be a cube. Let a, b, c denote 
the number of edges, number of 
faces and number of corners 
respectively. Then the result 
a = b + c is true for 

(a} A only 

(b) B only 

(c) both A and B 

(d) neither A nor B 

48. What is the area between a square 
of side 10 em and two inverted 
semicircular cross-sections each of 
radius 5 em inscribed in the 
square? 

(a) 17·5cm2 

(b) 18·5 cm 2 

(c) 20·5 cm2 

(d) 21·5 cm 2 
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44. ~ ('IJOftCfl<ul ax2 + bx + b = 0, ~ 
a"' 0, ~ tr.G~ it f.llOifftfum Cfi~ I:R 

fcf<m~: 

1. 1@1 Cfil !!u14q:,~, '1@1 ~ ({)•14R1 ~ 

Gf{'liR t I 
2. esf\Cli(UI ~ 1@ m 3l{1qR 3fr\ 

qlf<1~Cfl ~I 

(a} ~ 1 

(b) ~2 

(c) 1 ~ 2 Gt.i\ 

(a) 2/5 

(b) 3/5 

(c) 4/5 

B-BCRB-M-NBU/48A 15 

46. \I,'Cfl 3w.«f Cfil, ~ ~ 144 em2 &i 
~ t ~ ~311 it ~ 4 : 9 ~. 
~~~? 

(a) 52 em 

(b) 56 em 

(c) 60 em 

(d) 64 em 

47. lfR ~ fco A crl31Ttffi ~ \% ~ t 
3-itt B \% ~ ~I ~ ~ b, c ~: 

~ r€1 ~. ~ <#,1 ~ 3iR -cnr.n 
c#it~~~~tm~ 
a=b+c~~@t? 

(a.) ~A 

(b) ~B 

(c) A 3'ffi B Gf.i\ 

(d) -=t oT A ~ -=t tft B 

48. ~ 10 em ~ \% Clff ~ Clff it ~ <fl 
51Ricllil1(1 ~~'fd!Cfll{ ~ Cfilit, ~ 
5 cm~~.~~Cfil~~ 
t? 

(a) 17·5 cm 2 

(b) 18·5 cm 2 

(c) 20·5 cm 2 

(d) 21·5 cm 2 

jP.T.O. 
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49. One side of a para!lelogram is 
8·06 em and its perpendicular 
distance from opposite side is 
2 ·08 em. What is the approximate 
area of the parallelogram? 

(a) 12·56 em 2 

(b) 14·56 cm 2 

(c) 16·76 em 2 

(d) 22·56 em 2 

50. What is the volume of a cone having 
a base of radius 10 em and height 
21 em? 

(a) 2200 cm 3 

(b) 3000 cm 3 

(c) 5600 cm3 

(d) 6600 cm3 

51. What is the area of a circle whose 
area is equal to that of a triangle 
with sides 7 em, 24 em and 25 em? 

(a) 80 cm 2 

(b) 84 cm 2 

(c) 88 cm2 

(d) 90 cm 2 

B-BCRB-M-NBU /48A 16 

52. If the area of an equilateral triangle 
is x and its perimeter is y, then 
which one of the following is 
correct? 

(d) None of the above 

53. A rectangular . field is 22 m long 
and 10m wide. Two hemispherical 
pitholes of radius 2 m are dug from 
two places and the mud is spread 
over the remaining part of the field. 
The rise in the level of the field is 

{a) 8/93 m 

(b) 13/93 m 

(c) 16/93 m 

(d) 23/93 m 

54. The diameter of a circle with centre 
at C is 50 em. CP is a radial 
segment of the circle. AB is a chord 
perpendicular to CP and passes 
through P. CP produced intersects 
the circle at D. If DP = 18 em, then 
what is the length of AB? 

(a) 24 em 

(b) 32 em 

(c) 40 em 

(d) 48 em 
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49. ~ ~ ~ ~ ~ 8·06 em ~ t 
3ID: ~ ~ ~ -ij -~ ~ 
2·08 em ~I ~ ~~ CfiT ~ 
~~~? 

(a) 12·56 cm 2 

(b) 14·56 cm 2 

(c) 16·76 cm 2 

(d) 22·56 cm 2 

50. ~ ~ q;r, ~ 3lTlffi <fa~ 10 em 

3lt1: ~ ~ 21 em t , 3W«H fcfi<Rt 
t? 

(a) 2200 em3 

(b) 3000 em 3 

(c) 5600 cm3 

(d) 6600 cm3 

51. ~ V'f CfiT ~. ~ ~ 7 em, 
24 em 3Ttt 25 em ~~ ~ i3fWil ~ 
~ih~ t <flllt? 

(a) 80 cm 2 

(b) 84 cm2 

(c) 88 cm2 

(d) 90 cm2 

B-BCRB-M-NBU /48A 17 

~ . 
52. ~ ~ ~ ~ CfiT ~ X t 3fu: 
~ -qftJnq Y t m f.ll'=t~ f{ij 11 .q l) 

cnT.t-m ~ ~ t? 

(c) y2 = 432x 2 

53. ~ 3il4d1Cfli( ~ 22 m ~ ~ 10 m 

~t1~2m~~Gl~ 
TT!G1WR1~~~~ 3ffi~~q;l 

~ ~ Wt1 lWT 'lR ii«JT ~ lilTffT t m 
'ffif~~~~? 

(a) 8/93 m 

(b) 13/93 m 

(c) 16/93 m 

(d) 23/93 m 

54. ~ ¥ Cfil, ~ ~ c 11{ t, cxm:t 

50 em t I CP <ff CfiT l]Jfi ~ lSOS t I 
AB ~ t, ~ CP VJ. ~ t ~ P ~ 
~ ~Cfi~<f1 ~I ~ TPit CP, Vf ~ D 

tR CfiT«fr tt ~ DP = 18 em t, al AB 

~~~t? 

(a) 24 em 

(b) 32 em 

(c) 40 em 

(d) 48 em 

I P. T. 0. 
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ss: A regular hexagon is inscribed in a 
circle of radius 5 em. If xis the area 
inside the circle but outside the 
regular hexagon, then which one of 
the following is correct? 

(a) 13 cm2 < x < 15 em2 

(b) 15 em 2 < x < 1 7 em 2 

(c) 1 7 em 2 < x < 19 em 2 

{d) 19 em2 < x < 21 em 2 

56. If x is the curved surface area and 
y is the volume of a right circular 
cylinder, then which one of the 
following is correct? 

(a) The ratio of height to radius 
of the cylinder is independent 
of x only 

(b) The ratio of height to radius 
of the cylinder is independent 
of y only 

(c) Either (a) or (b) 

(d) Neither (a) nor (b) 

57. A triangle DEF is formed by joining 
the midpoints of the sides of 
triangle ABC. Similarly a triangle 
PQR is formed by joining the mid­
points of the sides of the triangle 
DEF. If the sides of the triangle 
PQR Bie of lengths 1, 2 and 3 units, 
what is the perimeter of the 
triangle ABC? 

(a) 18 units 

(b) 24 units 

(c) 48 units 

{d) Cannot be determined due to 
insufficient data 

B-BCRB-M-NBU /48A 18 

58. A tent is in the form of a right 
circular cylinder surmounted by a 
cone. The diameter of the cylinder 
is 24m. The height of the cylindrical 
portion is 11 m, while the vertex of 
the cone is 16 m above the ground. 
What is the area of the curved 
surface for conical portion? 

(a) 3434 I 9 square metre 

(b) 3431/8 square metre 

(c) 3432/7 square metre 

(d) 3234/7 square metre 

59. What is the whole surface area of 
a cone of base radius 7 em and 
height 24 em? 

(a) 654 square em 

(b) 704 square em 

(c) 724 squSie em 

(d) 964 squSie em 

60. A conical cap has the base diameter 
24 em and height 16 em. What is 
the cost of painting the surface of 
the cap at the rate of 70 paisa per 
square em? 

(a} r 520 

(b) ~ 524 

(c) r 528 

(d) ~ 532 
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55. Sem~~~V~t~~WI 
~tl ~~~~~WI~~ 
t ~ C1i1 ~ x t, m ~qR1f@(j ii ~ 
~-m~ ~t? 

(a) 13 em 2 < x < 15 em 2 

(b) 15 em 2 < x < 1 7 em 2 

(c) 17 em 2 < x < 19 em 2 

(d) 19 em 2 < x < 21 em 2 

56. ~ l!;Cfi ~ ~ ~ C1i1 Cfsfi ~ ~ X 

t am 3W«R y t. m ~JWOI Rift!! a ii ~ 
~-m v;<fi ~ t? 
(a) ~ <#iT ~ ~ ~ C1i1 ~ 
~ x~oot 

(b) ~ <#iT ~ ~ ~ q;y ~ 
~y~~t 

(c) "lfl (a) "lfl (b) 

(d) ";{ m (a) 3ffi ";{ ~ (b) 

57. ~ ABC <#iT ~:m "* ~-~m qj) 

~ 1R f.\fifu ~ DEF t I ~ 'S1'C1i'R 

~ DEF <#iT ~3i\ * ~-~31\ 
Cfi1 ~ 1R ~ ~ PQR t1 ~ 
~ PQR <#iT 'j\illm ~ ~ 1, 2 :Att 
3~t<fi~ABC'Cfil~~ 
t? 
(a) 18 ~ 

(b) 24 ~ 

(c) 48 ~ 

(d) ~ ~ t Cf;f{Ol ~mfur ~ ~ 
'ill~ 

B-BCRB-M- NBU/48A 19 

• 
58. l!;Cfi ~ ~ ~ 3it""01R(1 ~ ~ ~ 

t ~ it t I ~ Cfi1 cxrn:f 24 m t I 
~\lfll~~llmt~~ 
q;y ~ ~ ~ 16m "3i1R t1 ~ \lfl1 

tqsn~q;y ~ ~t? 

(a) 3434 I 9 cr1 ~ 

(bJ 343 1 I 8 Cflf lfm: 

(c) 3432/7 Cflf lfm: 

(d) 3234/7 qJf lfW: 

59. 7 em -mtm Raft\ 24 em~~ 

~~*~~qil~~t? 

(a) 654 cr1 a~4k< 

(c) 724 cr1 ait&fk< 

fdJ 964 cr1 athtll< 

60. ~ ~ilfilqil( zWt Cfil 3flm<-ozm;{ 24 em 

aft\ ~ ~ 16 em t' I 70 ~ IDa' 
qtf iUI~l< ~ ~ ~ ~ it ~ ~ -{rnf ~ 
"ffi'm ~ t? 

(a) ~ 520 

(b) ~ 524 

(c) ~ 528 

(d) 'f 532 

[ P. T. 0. 
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61. ·The area of an isosceles triangle ABC 
with AB = AC and altitude AD= 3 em 
is 12 square em. What is its 
perimeter? 

(a} 18 em 

(b) 16 em 

(c) 14 em 

(d) 12 em 

62. If the total surface area of a cube is 
6 square unit, then what is the 
volume of the cube? 

(a} 1 cubic unit 

(b) 2 cubic unit 

(c) 4 cubic unit 

(d) 6 cubic unit 

63. The diameter of the moon is 
approximately one-fourth of the 
diameter of the earth. What is 
the ratio (approximate) of their 
volumes? 

(a) 1 : 16 

(c) 1 : 4 

(b) 1 : 64 

(d) 1 : 128 

64. A hospital room is to accommodate 
56 patients. It should be done in 
such a way that every patient gets 
2·2 m 2 of floor and 8·8 m 3 of space. 
If the length of the room is 14 m, 
the breadth and the height of the 
room are respectively 

(a) 8·8 m, 4 m 

(b) 8·4 m, 4·2 m 

(c) 8 m, 4 m 

{d) 7·8 m, 4·2 m 

B-BCRB-M-NBU/48A 20 

65. If the diagonals of a rhombus are 
4·8 em and 1·4 em, then what is the 
perimeter of the rhombus? 

{a) 5 em 

(b) 10 em 

(c) 12 em 

{d) 20 em 

66. Consider the following statements in 
respect of two chords XY and ZT of 
a circle intersecting at P : 

1. PX · PY = PZ · PT 

2. PXZ and PTY are similar 
triangles. 

Which of · the above statements 
is/ are correct? 

(a) 1 only 

(b) 2 only 

(c) Both l and 2 

(d) Neither l nor 2 

67. ABCD is a quadrilateral such that 
BC = BA and CD > AD. Which one 
of the following is correct? 

(a) LBAD = LBCD 

{b) LBAD < LBCD 

(c) LBAD > LBCD 

(d) 2L.BAD = L.BCD 

·--·------------------------------------------------------------
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61 . ~ AD:: 3 ~little< ~ AB= AC 

~ ~ (014f{qJ~ ~ ABC <fil ~ 
12 qrf ~tJJffl< ~I~ ttftqrq ~ t? 
(a) 18 em 

(b) 16 em 

(c) 14 em 

(d) 12 em 

62. ~ ~ -er-r ~ ~ ~ ~ 6 qrf ~ 
t, m lf.{ q;y ~ fcno;n ~? 

(a) 1 'EA~ · 

(b) 2 -er-r~ 

(c) 4 'EA~ 

(d) 6 tR ~ 

63. ~ CfiT <Xmi, ~~ ~ c;qm q;r WlllTT 

~-~~ ~I m ~ if «~CR 
~~~? 

(a) 1 : 16 

(c) 1 : 4 

(b) 1 : 64 

(d) 1 : 128 

64. l% 30((4(11(1 ~ Cfi~ it 56 UfTrm ~ ~ 
~ I ~ 1'{1 '5ICf;T\ <fa m:ft ~ fcf.; 

~ Urft C!i1 ~ 2·2 m 2 3ffi ~ 
8·8m3 flre ~I ~ Cfi~ ~ ~ 
14 m t m Cfi~ <fa ~ ~ ~ 

• Sfilm; ~~? 

(a) 8·8 m, 4 m 

(b) 8·4 m, 4·2 m 

(c) 8 m, 4 m 

(d) 7·8 m, 4·2 m 

B-BCRB-M-NBU/48A 21 

65. ~ v;q; ~~ ~ ~ 4·8cm ~ 
1·4 em ~. <it ~~ Cfil tffttrrq ~ 
t? 

(a) 5 em 

(b) 10 em 

{c) 12 em 

{d) 20 em 

66. ~ Vf <fa Gl ~an XY ~ ZT, ~ P 'q\ 

SlRt~tft t ~ ifR if f41001f€'tfula ~ 'q\ 

fcRrn~: 

1. PX · PY = PZ · PT 

2. · PXZ 3fR PTY~ ~~I 

{a) ~ 1 

(b) ~2 

(c) 1 3TR 2 <:r.t1 

(d) ';{ o) 1 atR ';{ 1ft 2 

67. ~ ~ ABCD if BC= BA ~ 
CD > AD t I f4Af€lf&a if ~ CbT.J -m ~ 
"('11ft t? 

(a) LBAD = LBCD 

(b) LBAD < LBCD 

(c) LBAD > LBCD 

(d) 2LBAD = LBCD 

IP.T.O. 
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68. ABC and XYZ are two similar 
triangles with LC = LZ, whose 
areas are respectively 32 em 2 and 

60·5 em 2 . If XY = 7 ·7 em, then what 
is AB equal to? 

(a) 5·6 em 

(b) 5·8 em 

(c) 6·0 em 

(d) 6·2 em 

69. A quadrilateral ABCD is inscribed in 
a circle. If AB is parallel to CD and 
AC = BD, then the quadrilateral 
must be a 

• 
(a) parallelogram 

(b) rhombus 

(c) trapezium 

(d) None of the a bove 

70. ABC is a triangle right angled at A 
and a perpendicular AD is drawn on 
the hypotenuse BC. What is BC · AD 
equal to? 

(a) AB· AC 

(b) AB· AD 

(c) CA·CD 

(d) AD · DB 

B-BCRB-M- NBU/48A 22 

71. In a triangle ABC, LB= 900 and 

LC = 2LA, then what is AB2 equal 
to? 

(a) 2BC2 

(b) 3BC2 

(c) 4BC2 

(d) 5BC2 

72. The heights of two trees .are x and y, 
where x > y. The tops of the trees 
are at a distance z apart. If s is the 
s hortest distance between the trees, 
then what is s 2 equal to? 

73. The side AC of a . tria ngle ABC is 
produced to D such that BC = CD. If 
LACB is 70° , then what is LADB 
equal to? 

(a) 35° • 

(b) 45° 

(c) 70° 

{d) 110° 
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68. ABC ~ XYZ Gl ~ ~ ~. mq 
LC == LZ t I ~ ~ Sfilrn: 

32 cm2 ~ 60·5 cm2 ~ ~ ~ 
XY-'= 7·7 em t, <it AB~~ t? 

(a) 5·6 em 

(b) 5·8 em 

(c) 6 ·0 em 

(d) 6·2 em 

69. ~ABCD~Vf ~ ~ti~CD 
~ ~ AB t 3:ftl: AC == BD, m ~ 
~'F~tl 

(c) tl'klkl t 

70. v;q; ~ ABC, A '!R {"lqthlfUI<il t ~ 
q;uf BC '!R ~ ~ AD "@f;:n 1l?.tT t I 
BC ·AD~~ t? 

(a) AB·AC 

(b) AB· AD 

(c) CA · CD 

(d) AD · DB 

B-BCRB-M-NBU/48A 23 

71. ~ ABC .q LB = 9Cf 3:ftl: LC == 2LA 

tt AB2 ~~t? 

(a) 2BC2 

(c) 4BC2 

(d) 5BC2 

72. Gl f!~ ~ £'i:! l~l{j X 3ffi y .g, ~ X > y. 

· <!~ ~ ~ ~ ~ ~ ~ z t1 ~ <!~ 
~ efR ~ ~ s t, m s 2 ~ ~ 
t? 

73. ~ ABC ~ ~ AC q;l D (lqi ~ 
~ 'i\l'OI t ~ BC = CD. ~ 
LACB = 7Cf t, ot LADB ~ ~ 
t? 

(c) 70° 

(d) 110° 

I P. T. o. 
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74. Consider the following statements : 

1. If the diagonals of a 
parallelogram ABCD are 
perpendicular, then ABCD may 
be a rhombus. 

2. If the diagonals of a 
quadrilateral ABCD are equal 
and perpendicular, then ABCD 
is a square. 

Which of the statements given 
above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

. 

75. Consider the following statements : 

1. The perpendicular bisector of a 
chord of a circle does not pass 
through the centre of the 
circle. 

2. The angle in a semicircle is a 
right angle. 

Which of the statements given 
above is/are correct? 

(a} 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

B-BCRB-M- NBU/48A 24 

76. E is the midpoint of the median AD 
of a triangle ABC. If BE produced 
meets the s ide AC at F, then CF is 
equal to 

(a) AC/3 

(b) 2AC/3 

(c) AC/2 

(d) None of the above 

77. PQR is an equilateral triangle. 0 is 
the point of intersection of altitudes 
PL, QM and RN. If OP"' 8 ern, 
then what is the perimeter of the 
triangle PQR? 

(a) s/3 em 

(b) 12../3 c·m 

(c) 16-/3 em 

(d) 24../3 em 

78. ABC is an equilateral triangle 
inscribed in a circle. D is any point 
on the arc BC. What is LADB equal 
to? 

(b) 60° 

(d) None of the above 
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74. f4qfaf@a ~ 1R ~ cAAn:!, : 

1. ~ ~ ~ ABCD ~ fcfq;uf 

~ t ol ABCD "1:% ~~ m 
~tl 

2. ~ ~~ ABCD t ~ SfmR 

3ftt ~tal ABCD~ qrf ~I 

(a) m 1 

(b) ~2 

(c) l 3fR 2 Gt.if 

1s. f48tf1Rsid m 'q\ ~ ~ : 

1. V' ~ "t% $n <fi1 ~ ~. Vf 
t~~~~~l 

2. ~ l:fcfi ~ .q ('(Jict1\or mot t I 

(a) ~ 1 

{b) ~2 

(c) 1 ~ 2 crr:fl 

B-BCRB-M-NBU /48A 25 

76. ~ ABCtfit ~AD <filllUI-'f.q E 

t I 1lfu ~ ~ BE, ~ AC "U F 1R 
ftfffcft t, al CF~ ~ t? 

(a) AC/3 

(b) 2AC/3 

(c) AC /2 

77. PQR l:fcfi ~ ~~ t I PL, QM 3ftt RN 

Wmta:n qjT stRl=t:Uc: ~ o t 1 m 
OP = 8 em t, m ~ PQR <fi1 ~ 
Cflfl t? 

(a) BJ3 em 

(b) 12../3 em 

(c) 16-/3 em 

(d) 24../3 em 

78. ~crtt ~ ABC'((Cti~ ~t1 
'UCf BC ltl: q;){ ~ D t I LADB ~ 

~t? 

[ P. T . 0 . 
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79. Consider the following statements : 

1. If G is the centroid of triangle 
ABC, then GA = GB = GC. 

2. If H is the orthocentre of 
triangle ABC, then 
HA = HB= HC. 

Which of the statements given 
above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

80. If the bisectors BI and CJ of the 
angles B and C of a triangle ABC 
meet at the point I, then what 
is L.BIC equal to? 

(a) 2A 

A 
{c) 9a'--

2 

A 
(b) 9a'+-

2 

(d) 9Cf'+A 

81. If s in9 +cos9 = -13, then what is 
tan a+ cote equal to? 

(a) I 

{b) .J2 
(c) 2 

(d) .J3 

82. What is the angle of elevation of the 
sun when the shadow of a pole of 

height x m is ~ m? 

(a) 30° 

(b) 45° 

(c) 60° 

(d) 75° 
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83. What is 

cos 2 (45° + 9) + cos 2 (45°- 9) 

tan (6a' + 9) tan (3a'- 9) 

equal to? 

{a) -1 

(b) 0 

(c) 1 

(d) 2 

84. If tan a+ sec9 = m, then what is 
sec a equal to? 

m2 -l 
(a) 

2m 

1 ,1 m + 1 
1c, 

m 

m2 +1 
(b) 2m 

(d) 
m 2 +1 

m 

85. If 5sin9 + 12cos9 = 13, then what is 
Scos 8- 12 sin 9 equal to? 

(a) -2 

(b) -1 

(c) 0 

(d) 1 

86. If 4 tan 9 = 3, then what is 

4sin9 - cos9 
4 sin 9 + 9cos9 

equal to? 

(a) 1 
2 

1 
(c) 4 

(b) 1 
3 

(d) 1 
6 
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79. f.11=1fc:1fti<1 m ttl: ~ ~ : 

1. ~ ~~ ABC CfiT ~ G t, oT 
GA = GB= GC. 

2 . ~ e'.fl ABC CfiT ~ ~ H t 
m HA = HB= HC. 

~ m 11 ~ m-mta ~ t/~? 
(a) t<ffi 1 

(b) ~2 

(c) 1 am 2 <:r.il 

tdJ ';{ m 1 3fR ';{ ~ 2 

80. ~~ABC~~ B ~ ct ~tfq; 
BI JlR CI, ~ I ttl: ~ t m L.BIC 

~~t? 

(a) 2A 

(c) 90"- A 
2 

(b) 90"+ A 
2 

(d) 90" +A 

81. ~ sin9+cos9=.J3t, m tan9+cot9 

~~t? 

(a) 1 

{b) .J2 
(c) 2 

(d) ./3 

82. ~ x m ~ t ~ <t\ ffim' .fJ m t, 

<0 ~ CfiT ~ Cfi1uT ~ t? 
(a) 30° 

(b) 45° 

(c) 60° 

(d) 75° 
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83• _co_s_2 ,;_(4_5°_+_9,;_) +_· c_o_s 2_(_45_0 _-_9) ~ ~ 
tan(60"+9) tan(30'l ·- 9) 

t? 
{a) - 1 

{b) 0 

{c) 1 

(d) 2 

84. ~ tan9+sec9 = m ~. m sec9 ~ 

~~? 

{a) 
m 2 -1 

2m 

1 ) m+ 1 
lC 

m 

m2 + 1 
(b) 2m 

(d) 
m 2 +1 

m 

85. ~ Ssin9 + 12cos9 = 13 t 
5cos9 - 12s in9 ~ ~ t? 
(a) -2 

{b) - 1 

(c) 0 

(d) 1 

86. ~ 4 tari e = 3 t, m 
4sin9- cosO 

4sin9 + 9cos9 

~~t? 

(a) 
1 

(b) 
1 ".\ - -

2 3 

(c) 
1 

(d) 
1 - -

4 6 

m 

.,, 

I P. T. 0. 
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87. If .sine -cos a= o, then what is 
sin 4 e +cos4 9 equal to? 

(a) 1 {b) 
3 -
4 

(c) 
1 

{d) 
1 -

2 4 

88. What is cosec(75°+9) - sec(15° - 9) 
equal to? 

(a} 0 

(b) 1 

(c) 2sin9 

(q) 2cos9 

89. If triangle ABC is right angled at C, 
then what is cos(A +B)+ sin(A +B) 
equal to? 

(a) 0 

(c) 1 

(b) . ~ 
2 

{d) 2 

90. Ifo:, (3, yare a~ute angles such that 

. ../3 ./3 
s 1na = -, cosf3 = -. tan y = 1 

2 2 

then what is o: + f3 + y equal to? 

(a) 10s• 

(b) 120° 

(c) 135° 

(dJ tso· 

B-BCRB-M-NBU/48A 28 

91. What is 

equal to? 

(a) 0 

(b) 1 

(c) 2 

(d) 4 

92. Consider the following sta tements : 

1. tan a increases faster than sin 9 
as a increases. 

2 . The value of sin 9 + cos 9 is 
always greater than 1. 

Which of the above statements 
is/ are correct? 

(a} 1 only 

(b) 2 ·only 

(c) l3oth 1 and 2 

(d) Neither 1 nor 2 

93. What is 

(sine +cos9) (tan9 +cote) 

sec9 + cosec9 

equal to? 

(a) 1 

(b) 2 

(c) sin9 

(d) cos9 
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87. ~ sine -cos a= o t, 
sin4 9+cos4 e ~ ~ t? 

(a) 1 

1 
(c) 2 

(b) 3 
4 

(d) 1 
4 

88. cosec(75°+9)-sec(l5°- 9) ~ ~ 
t? 

(a) 0 

(b) 1 

(c) 2sin9 

(d) 2cose 

89. ~ ~ ABC, C 'l{ aqc:n)fOICfi t, ol 
cos (A+ B)+sin(A+ B)~~ t? 

90. 

(a) 0 
1 

(b) 2 

(c) 1 (d) 2 

~ a, ~, Y ~ Cfi1ut ~ ~ fcf; 

. ../3 ../3 sma = - , cosP = - , tany = 1 
2 2 

cfta+B+Y~~t? 

(a) 105° 

(b) 120° 

(c) 135° 

(d) 150° 

~BCRB-M-NBU/48A 29 

91. sin6 8+cos6 8+3sin2 ecos2 e ~ 
~t? 

(a) 0 

(b) 1 

(c). 2 

(d) 4 

92. Pl""11"8f€i<t ~ 'l{ fcr.m ~: 

93. 

1. e ~ ~ 'q"{, sine~ 3N~ tane 

~~~tl 

2. sine+ case Cfit 11R' ~ 1 ~ 
~~tl 

~ ~ il ~<tA--m/~~ t/~7 

(a) ~ 1 

(b) ~2 

(c) 1 3W 2 GT=l1 

fdJ ~ m 1 3Ttt ~ ~ 2 

(sinS +cos e) (tane +cot9) 
~~ 

sece +cosec a 
t? 

(a) 1 

(b) 2 

(c) sine 

(d) case 

[ P. T. 0. 
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94. What is 

(1 + seca- tan9) cos a 
(1 +seeS+ tanS) (1- sinS) 

equal to? 

(a) 1 

(b) 2 

(c) tanS 

(d) cote 

95. A spherical balloon of radius r 

subtends angle 60° at the eye of an 
observer. If the angle of elevation of 
its centre is 60° and h is the height 
of the centre of the balloon, then 
which one of the following is 
correct? 

(a) h = r 

(b) h = ..fir 

(c) h = ..f3r 

(d) h = 2r 

96. Methods of presentation of data are 

(a) tables on ly 

(b) graphs only 

(c) d iagrams only 

(d) All of the above 

97. The average of u, v, w, x, y, z is 10. 
What is the average of u + 10, v + 20, 
W + 30, X + 40, y + 50, .2 + 60? 

(a) 30 

(b) 35 

(c) 40 

(d) 45 
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98. If m is the mean of p , q, r, s, t, u, v, 
then :what is 

(p - m) + (q - m) + (r - m} + (s - m) 

+ (t- m} + (u- m} + (v :- m) 

equal to? 

(a) 0 

(b) s 

{c) (p + u) /2 

(d) None of the above 

For the next two ( :Z J items that follow : 

The median of the following distribution is 
14·4 and the total frequency is 20 : 

Class interval 0-:-6 6-12 12-18 18-24 24-30 

Frequency 4 X 5 y 1 

99. What is x equal to? 

(a) 4 

(b) 5 

(c) 6 

{d) 7 

100. What is the relation between X 

andy? 

(a) 2x = 3y 

(b) 3x =2y 

(c) x = y 

(d) 2x = y 
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94. (1 +seeS - tanS) cos9 
~~ 

(1 + sec9 + tan9} {1 - s in9) 

t? 
(a) 1 

(b) 2 

(c) tan9 

(d) cote 

95. r ~ Cfi1 ~ ~ ~ ~ ~~ cfit 
~ ~ ~ 60° 3Mffta CRffi t I ~ 
~~<til~~ 60° t 3fn:~ 
~ ~ ~ ~ h t , m f.l&:1~futa .q ~ 
ctA-m~~t? 

(a) h = r 

(b) h=.fir 

(c) h "' ..f3r 

(d) h = 2r 

96. ~ ~ Sl~<ftCfi(Oj cfa q;g:~qj Cfli1 ~? 

(a) ~ fll<fill4i 

(b) tcre ~ 
(c)~~ 

(d)~~ 

97. ~ u, u, w, x. y, z Cfi1 ~ 10 t, m 
u+1~ v+2~ w+3~ x+4~ 

y+ 50, z+ 60 Cfi1 ~ ~ t? 
(a) 30 

(b) 35 

(c) 40 

(d) 45 
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98. ~ p, q, r, s, t, u, u Cfillfl'Ui m t. m 
(p - m } + (q - m) + (r - m) + (s - m) 

+(t-m)+(u-m)+(v - m) 

~WJt? 

(a) 0 

(b) s 

(c) (p + v) /'2 

(d) ~.q~~~ 

~ ~ ~ ~ ( 2 1 li~Oli~rf ~ ~ : 

~Rfftf@a ~ ~ ~ 14·4 t 3ffi ~ 
ISII(kil@ 20 t : 

qtf~ 0-6 6-12 12-18 18-24 24-30 

•mRtmn 4 X 5 y l 

99. x~~t? 

(a) 4 

(b) 5 

(c) 6 

(d) 7 

100. xam y~~~~t? 

(a) 2x = 3y 

{b) 3x = 2y 

•'J . (c) x :ey 

{d) 2x := y 
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SPACE FOR ROUGH WORK 

8-BCRB- M- NBU /48A 32 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



SPACE FOR ROUGH WORK . . 

B-BCRB- M- NBU /48A . 33 [ P. T. 0. 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



SPACE FOR ROUGH WORK 
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SPACE FOR ROUGH WORK 
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.cft.Gft.~. : B-BCRB-M-NBU 

Sli1'~ 085105 

~~ y;ffitctit 
~ •rfOra 

3t3~~ 

A 

1. ~~ ~ ~ '* ~ ~. 31N ll' ~ g~q;, ~ q~atH ~~'A~~~ fir:n wn, ~ 
lfl ~ !3tT 1iW .3mif1 ~~-=£~I~~ t, m ~. "«t\ ~~ ~ffi'lctlt «~~I 

2. ~ ~ ~ ~ OMR ~-~it, ~ WR ~. -fu;t ~am~~ gf@Cflt ~ A, B, C lfl 
D Clil, ~ « ~ ft'on ~ ~ lfl ~fl•tfd ~ ~ ~ ~ .m- <fa ~Lit~t6 Juft~ctt( <fa lt ~ 
'1ft 'PiR ·<fa ""'I f$Qi[ fclt ~ ffQftt it '3m-~ f.m:o Cfil ~ ~ I 

~------------------~ 3 . ~ -qt\~ ~ "n ~ it ~ lT't ~ it ~ 3N-l1 I 
31~qjiji ~ tl ~ ~ tR 3iR ¥tJ :r ~I L-----------------1 

4. ·l« 'ltt~ ~it 100 ~ (m ) ~ ~ ~ ~ ~ -smm ~ 3ftt ~~it uq-r t r ~~it 
~ ~ <~) ~ ~ ~~ m ~ ~ ~ ~ ~ ~. ~ 3f1q ~-~ tR ~ ~ ~ ~ 1 ~ mqq;1 
~~fit~~ 3lfuiji ~~ t, m '3"f( ~ q,1 ~ qit '"11 ~ ~ W'tr ~ ~ ~ ~ 
~ ~ tt ~ 'ff.'1 tt 

5. ~ ~ ~ ~ ~ -Q ~ lT't ~-~ lfl: it~~ ~I~-~ it~ lT't ffut ~I 
6. ~ ~ ~ 3fct; ltltR ~I 

7. ~ ~ ~ 3tA ~l51Jl ~ t faf\:rn w.rrm "* ~ ~-~ If{ ~ ~ ~<fit, ~ m 
~-~ "* ~ ~ ~ t ~ ~ ~ ~-'1[;\<fi it ~ ~~ 

8. ~ ~ lN\ ~ q,1 ~-q;r<fl it~~ GfiG <fqt '1'6~ ~ ~ tR ~ ~-1f!fifi mfiPd<fi q,1-m ~I 
~~~~~~-a~ c€t ~ tl 

9. ~ q;yq ~ ~ ~ trt\@11 ~ "* 3'Rf it ~ ~I 
10. tn-m m "* ~ ~ = 

q~8 '51T-l-~ it 3 ... lGql( '1m ~ ~ lT(OI(f :aml ~ ~ ~ ~ ~I 
(i) ~ m ~ ~ qn ~..,@[.., ~ ~ 1 auflGctt< am ~ -m "* ~ ~ lT't ~ ~ ~ t ~ m ~ 
~ ~ ~ 3l<f;T <fiT~-~ ~ t ~ it <m1 ~~ 

(ii) ~ct;)f auft<<m~~ ~~~t. m~~~lfRT ~. ~~~~it~ ~"3-m:~ 
~ t. ~ \ft '3"ff m ~ ~ aq~\fit¥11< ~ ~ <m: <fiT ~ ~ ~ 1 · 

(iii) ~ auft<aR mt q,1f m ~ ~ ~ ~ t, ~ auftG<m mt ~ ~ ~ amn t, m ~ ~ ~ ~ 
Clilt~~~~ l 

Note : English version of the instructions is printed on the front cover of this Booklet. 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers




